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SUMMATIVE ASSESSMENT - I, 2012
wrtfees fa@m /SOCIAL SCIENCE

M - X / Class - X

Frruffia 7w - 3 qUe sxfirawe 3@ : 90
Time allowed : 3 hours Maximum Marks : 90
wmr o :

() 79w TR A P 319 1 e vy s

(i) WV HHIE 19 10 T Agfamedia v € U 7 190 WY

(i) T I 119 22 T W 99 3 30k 1 €1 T @ e WY 1 ST 80 VTest A Sk e e
Gt

(iv) W ShHidh 23 § 30 0 UOIE WA 5 3 W R | T [ WoIH W H1 IW 120 yreE @ s T
L]

(v) W I 31 Fae i | AAfa sl 4 6% @ wE 1 et wosw el F A s

ot Ie fi % et vg w0 Al A

General Instructions :

(i)  The question paper has 31 questions in all. All questions are compulsory.

(i)  Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark,

(iii) Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(iv) Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each

(v) Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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FFTE A (T Aw) 92 F A §

(a)  fafim fored % =i 4 feifem w0

(b)  fafew vwata s gr ffda 7€ =i g e de
()  wftifaa &

(d) g A

The term ‘canal colonies’ is

elated to :

(a) irrigated areas by the different sources of irrigation

(b) the areas irrigated by the new canals built by the British Indian
government

©  wellirrigated areas
(d)  well drained areas
37T/ OR
Hifiea 1 4
(@) FTH & T ® T
() IS A AT TR d) A At
Khostis were :
()  acommunity of weavers  (b)  weavers
() cotton weavers (d) landless laboures
a1/ OR
anyfs fava # frafafaa St § @ frad T #1 € a5 T ?
(a) e (b)  enifrdem
© ffem () sheinfi

Which of the following factors changed the form of urbanisation in the modern
world ?

(a)  Unemployment (b)  Secularism

(¢)  Capitalism i (d)  Industrialisation

A el g w9 H e s a2

() AT (b)  fafemidie =g

(© FTETF d) FTRETH

What was the cheap book known in France ?

(a)  Chap books (b)  Biliotheque Bleue

() Hand books (d)  Text books
YA/ OR

TS A T e ST 4

(@) Tm (b) N

()  d=dER (d) e

The carliest novel in Marathi was.

(@  Ganga (b)  Yamuna Paryatan

{c) Panchatantra (d) Kadambari

Page 2 of 7




[image: image3.jpg]@

10.

3t st T2 81 A I T A A5 R A e g 2

(a)  omfem aq (b W@

(0  eriiga a1 (d) A o
Forest land protected from any further depletion is called :
(@)  Reserve forest (b)  Protected forest
() Unclassed forest (d)  None of these

Freafefira § & w9 wHE H GEw i, i Im & e g e e R

@ M (b) TN (@ Fm [
Identify from the following the crop which takes almost a year to grow ?
() Wheat (b)  Sugarcane ()  Cotton (d)  Rice

Freiferfian 290 4 A frm § aguerFaR F1 SR e E

(a) fesrm (b) e (@ ¥ ) w
Majoritarianism is followed in which of the following countries ?
(@) Belgium (b) Srilanka ()  England (d)  Russia

Fererfefiara 8 @ 39 &w 1 A FARY, WA R FAr Aol ) ST e 8
@ 1% () @ () T @
Name the country among the following which follows ‘coming together style of

federalism.
(@ UK () India () Switzerland (d)  Spain

@ o form 2 w1 wgE e # 2

() ma b R © () i
Buddhism is the major religion of

(@) India (b)  Pakistan

() Nepal © (d) Siilanka

Frerferfern Tl % 4 el ww we o e # 22

(@) U™ by fer © F@ (d) e g
Which state among the following has the lowest literacy rate ?

(a)  Punjab (b)) Bihar ()  Kerala (d)  Tamilnadu
2l %t e 3 for fretferiam & | Fm v ames 87

() T (b)  wf =t s

(¢) FA HA (d) e & @ e

Which one of the following is a useful measure for comparison between
countries ?

(a)  National Income (b)  Percapita income

() Total income (d)  Income from tertiary sector

A A E S, g wY i

(a) T o e i sfifem

(b) T A dem e st

() g anr dem g sifufm

(d) T E e

Give full form of NREGA

(a)  National Rural Employment Guarantee Act
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12A.
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13.

14.

16.

17.

(b)  National Regional Employment Guarantee Act

() National Regional Employment Generation Act
(d)  None of these
agdt ol & a1 & e, s & st Al & e A W FE E A E

A HRO A | A F 2 Hifn |
Before the arrival of outsiders, most of the Africans had a little reason to work
fora wage . Explain three reasons.

#uET/OR
1760 1 sy #, fz shem Forft s | =6 w6m & fm F e @l s o2
H1é i o v Fi )
Why was East India Company keen on expanding textile exports from India
during the 1760 > Explain any three reasons

T/ OR
arad (vard) a0 o aE & famm @ fom v fim a1 7 sioc W F0 A9
i farmg A
How did the development or expansion of Bombay (Mumbai) differ from
London? Give any three points of difference.

o H g W H A Al oy F T R A g ) acsie &3 % e e s
Tefim |

Give any three reasons favouring shift from hand printing to mechanical
printing in C!

FHerET/OR
e sl & @it 3w e R wewf g Sae At we s

How did novels become popular among masses ? Explain with examples

el # sim W R aga W@ e G w3 W weE W oAn Em
e ifor |

“Indiscriminate use of resources has led to numerous problems” Justify the
statement.

A fofen e ¥ wefs s s wife 9w % gw H fEn wwR il fma ¥
TR FHIfA |

How have human activities affected the depletion of flora and fauna ? E

plain

erufel TuEwr oA W, s sit witefi deow s faewer §10
YA &1 e R ewl | Hifsg)

“Rain water harvesting system is viable alternative both social by, economically
and environmentally”. Support the statement with three examples.

atg fgu fa=nd woneft 70 7 qaw el 2 fadmmed =1 3edia #ifem)
What is bamboo drip irrigation ? Mention any two features of it

1956 H W@ HT & SR i R 3310 7§t IurE H e Hif |

Explain three measures taken by Sri Lanka, according to an Act passed in 1956

3x1=3

3x1=3

3x1=3

3x1=3
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23A.

24A.

24B.

25A.

et fafipmati % Ao qon 2 § i e
Distinguish between overlapping and cross - cutting of social differences,

wrifee faursm wsHifa 1 fre g et F@ §2 o st

How do social divisions affect politics ? Explain.

= T |

Explain the main criterion used by World Bank in classifying different countries?

anfefes Al w1 pnal @t wefa ¥ smm w wiig Hif) v@w it woTe
Ferdroan 1 Feer Ffag )

Classify the economic sectors on the basis of nature of activities. Mention the
main feature of each.

TR TARS | Wi 6 & A & e i fagsi #t e Fif
plain any three points of importance of public sector in our society

Sft 77 @ &7 T st sifde gonet A S 77 29§ @ wra Fen e avib
Fifsm )

What is G 77 ? What did the G
Economic Order ? Describe,

countries want to gain from New International

19T/ OR
STl il § Weet g & 2 HRrr i wEd 6 S e w1 e e § o,
foel il Wi e 1 avi i)
Describe any five major problems faced by new European merchants in setting

up their industries in towns before the industrial revolution.
oA/ OR

et T $reive A wESE & g w0 % A wif )
Describe five forms of entertainment that came up in the 19% century England

ugfefd & Fwa w6 0 FEd A4 Sl 2 fif dw # e swifm e
i i |
What were the three difficulties in copying manuscripts 2 What was the use of
printing press ? Describe

3o/ OR
‘AT W TR AW & U o FH 47§ S ) fawa-aeg @ A
Fifs |
Who is the author of novel ‘Titash Ekti Nadir Nam’ ? Describe the theme of this
novel
A T A o, e v A 4 gl A W & ¥ gl A g i g
% ey H IR H S Hif |
Martin Luther remarked “Printing is the ultimate gift of God and the greatest
one.” Explain his remarks in the light of the religious reforms that took place in

Europe.

x1=3

3x1=3

1+4=5

5x1=5

3+2=5

144=5
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‘Novels created a sense of social awareness in India. Support the statement with
suitable examples

26. A TR g e % fem A fiRg g fe wre el Sl aen e 5x1=5
[T 1 v FH )
Describe any five important Technological and Institutional reforms introduced
by the Indian Government in the interest of the farmers.

27. & fadhiin 1 F sifa §2 wwa § grion T wew W oae a oenen  243<5
Fifa |
What is the rationale for decentralization of pow Explain ‘the structure of
Rural Local Government in India.

28. foeel e it w0 avi Fif, fom ura # wfeensli F wma sefi-oft SeuE o 5

e i edifea form s )
Describe any five ways in which women in India are still discriminated and
appressed

29. wAa fawra fde @0 &7 #m wneT ArE fawm frd @ meE w87 AEE 14143=5
B T W AR B Fi

What is Human Development Report ? Which organisation measures HDR ?
Explain the three major indicators of H.D.R.

30. it & § AR & sifes o G @7 9 I9E e o uaw @ we 5x1=5
s |
How to create more employment in rural areas ? Explain with the help of five
suitable examples.

31 () T gu uw % urifoer Tt # (A) SR (B) W waw fafe fmd 4
¥+ & T ST & SR T Sl ) TEa Rt AHTEs 6 6 e
it w3 e am fafan

(A) TF 7@ TR
(B)  WRA %1 UF 71 Ieqaeh T4 |

Two features A and B are shown in the political outline map of India
Identify these features with the help of following information and write
their correct names on the lines marked on the map.

(A) A soil type

(B) A wheat producing state of India.
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On the same political outline map of India, locate and label the following

items with appropriate symbols
(C) Periyar Tiger Reserve.
(D) Bhakra Nangal Dam.
vz Freifafen uw Fae st st & fag s a1 & e e
(1) e % R T R R e e e 2
(312) A Sewes T & AW fafaw)
(313)  ftaw = frow frm v 7 fem #2
(31.4) s A Ay R 9w a g §?

Note: The follawing questions are for the visually impaired candidates only
in lieu of Q.No 31

(31.1)  Name the soil type found in the North - easter states of India

(312)  Name two major wheat producing states.

(313)  Periyar Tiger Reserve is situated in which state ?

(314)  Name the river on which Bhakhra Namgal Dam is built
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